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02445 20l LEHSIH A2 & Z Mt
S2A: AR EZH Dt
M A2 AN 243
&l AlSI BN 245t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
NSRS pA 3,633,449 9,660,810 A6,027,361
= 1,163,068
T 233,404
Al 2,236,977
ARSI AR 243} 1,192,977 3,220,502 A2,027,525
M EHBH 435 1,182,477 3,209,502 A2,027,025
MIEHEH 43t X2 81,000 84,700 A3,700
201 B2 AY| 49,000 82,000 A33,000
01 At=R2teld| 27,000 60,000 A33,000
OASIHZMAIE &dst ASX& 27,000
2 S=29| 22,000 22,000 0
OXIAMIAUZ M XNLEREE S =€
= 22,000
203 RF=&H| 2,000 2,700 AT00
03 A FRIHRFAIY| 2,000 2,700 AT700
OAIS| HZHMAIE 83t =& 2,000
308 AXIHMSOIH 30,000 30,000
13 BI |2 SOICHEH B A X LE AL 30,000 30,000
OASIHZMAIY &dst ASX& 30,000
AN EAR fI3e 29 18,800 20,000 A1,200
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11 HAAHIXIE S 8,000 8,000
OAMIIEAM, SFZH A2 Ul 24 8,000
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201 B2 AY| 4,500 5,000 AB00
01 At22teld| 4,500 5,000 A500
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A B2 9,000
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ON=Al XNIGASEHGHH 22 1,039,177
401 AIEHIZL 208 30,000 30,000
01 Al&HI 30,000 30,000
OXFAl NIGLASEEHH AL B 30,000
SR 43t 10,500 11,000 A500
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SRS gda XdH 10,500 11,000 A500
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307 gl2to| & 6,000 6,000
02 2B YA AR £ 6,000 6,000
OBIRY =M DL NEEZX YA 6,000
MBI BB DI E 1,787,129 5,095,970 A3,308,841
= 1,163,068
== 196,904
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=S 196,904
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Al 10,500
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[ 15,000
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Al 10,500
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Al 10,500
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Al 35,000
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307 elztol & 69,480 68,040 1,440
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=S 109,910
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< 14,814
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= 54,868
=S 14,814
Al 34,567
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[ 54,868
= 13,168
Al 30,726
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< 1,646
Al 3,841
ASIEAH gtEts] HE(XXISH S3HANY) 70,000 0 70,000
= 21,000
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33 NgssH gdat
el gdiE =4 (Gt H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
02 2IHBHAIHE £ 40,000 90,000 50,000
OUt=II1te S SSHM Z2HE 40,000
SsH =4 399,700 370,900 28,800
= 35,000
Al 364,700
2FdSSH 243 MY 173,700 184,900 211,200
201 etz 3| 22,500 25,000 2,500
01 At 2|l 22,500 25,000 22,500
O2FdSSH 243t At 22,500
307 212+01& 151,200 159,900 28,700
02 2B HAHE L 151,200 169,900 28,700
O2Fd=SH 243t A 151,200
25d3SH /S 10,000 10,000 0
201 Ler23| 10,000 10,000
03 A= SHI 10,000 10,000
O2Fd=sH H3& 10,000
25dESH s34 24 19,000 16,000 3,000
201 ger=3| 19,000 16,000 3,000
01 At 2|l 9,000 8,000 1,000
OssH s7s2L 8€ 9,000
2 S52g4l 10,000 8,000 2,000
O=3H =732t =29 10,000
H=Al OIS SSHOICIH 243t A 38,000 40,000 22,000
201 Ler23| 18,000 20,000 22,000
01 At2teltl 18,000 20,000 A2,000
OCI=ESHOILIN WS At 18,000
307 gl2to| & 20,000 20,000
02 QIZHEAAEE X 20,000 20,000
O0I==SHOILIN |4 & 243t A 20,000
HFAIUEH 2det X2 A 59,000 60,000 A1,000
201 =3 54,000 50,000 4,000
01 At22t2lt] 9,000 10,000 A1,000
OXFAIQEE 43 X2AH 9,000
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Al 30,000
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Al 30,000
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307 QI2H0I & 20,000 20,000
02 QIFAMAIY X 20,000 20,000
OXF BESHICILI A5 A 20,000
M= DISSSHOICIO 245 A (HSHALY) 30,000 40,000 10,000
[ 15,000
Al 15,000
307 2I2H0I& 30,000 40,000 10,000
== 15,000
Al 15,000
02 QIFAMAIE B X 30,000 40,000 10,000
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== 15,000
Al 15,000
SE0I2 SSHAY 5,000 10,000 25,000
= 1,500
Al 3,500
AMOI2RHED] A (DI EEHA) 5,000 10,000 25,000
= 1,500
Al 3,500
307 2I2H0I & 5,000 10,000 25,000
== 1,500
Al 3,500
02 QIFAMAIE B = 5,000 10,000 25,000
OMMOIZRHED| AP (DIZEHH) 5,000
== 1,500
Al 3,500
HHSAZHI (AR H AR D) 34,643 36,704 2,061
J1228I (A EHZHI) 34,643 36,704 A2,061
J12ZHI (A HZE T 34,643 36,704 A2,061
201 YEr2 Y| 19,547 21,608 2,061
01 Al 22lH 19,547 21,608 2,061
CFTEIRS=1i] 10,080
CEEL] 8,467
oRg+g 1,000
202 04| 12,09 12,09 0
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A2l 2 3 Xl ot
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M HYRAZHI(AIZHZHD)
el JI2HI(ARIHZ I (SH &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
01 2LHoIH 12,09 12,096 0
OJl=g =0 12,09
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